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Practice Test 5.1t0 5.5 Date Period
Convert each decimal degree measure into degrees-minutes-seconds. [:
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Convert each degrees-minutes-seconds into decimal degrees. Round to nearest thousandth.
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(1) Sketch the angle. (2) Determine the reference angle or write "QUADRANTAL ANGLE." RBoVE
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Draw an angle with the given measure in standard position.
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Find a positive and a negative coterminal angle for each given angle.
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Find a coterminal angle between 0° and 360°. Provide a sketch to show the location of this

angle.
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Find the value of the trig function indicated. Give answers in simple radical form. |50 CA RTOA \
(o)

15) co'té':%'3 16) tan 6 =7 -
s
7 e v
o P
g ré' ) &E 12 -
BB |5
[ =%
=
17) cos 6 :‘4 W 18) sec QN
i
ﬂ\c/ W %ﬁ': \j‘;?'
\ il
A ES =

V3
Xt a




W
—~

J =
. Paccd
19) sin 6 ol 20) csc 6 T W
K N 9 13 5(\_0‘
H* N\ o S
q
A% |3
A 4

Find the value of the trig function indicated. Answer in simple radical form.
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show your work.
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Find the exact value of each trigonometric function. You must
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Use the given point to find the value of the trigonometric functions indicated.
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35) cos 6; (2, 11)
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include the reference angle and label the sides used in your calculation.
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Find the exact value of each trigonometric function, Show work
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In each problem, angle C is a right angle. Sketch and label the triangle. Find the side indicated
to the nearest tenth..
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Find the measure of each side indicated. Round to the nearest tenth. :
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Find the measure of the indicated angle to the nearest degree.
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wers to the nearest tenth.
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In each problem, angle C is a right angle. Sketch and label the graph. Solve each triangle

rounding answers to the nearest tenth.
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